Mo Bonpocam npogax n nogaepxku obpallantecs:

ApxaHrenbck (8182)63-90-72 MBaHoBo (4932)77-34-06 MarnwuToropck (3519)55-03-13 Mepwmb (342)205-81-47

AcTtaHa (7172)727-132 WxeBck (3412)26-03-58 Mocksa (495)268-04-70 PocToB-Ha-[JoHy (863)308-18-15
AcTpaxaHb (8512)99-46-04 KasaHb (843)206-01-48 MypmaHck (8152)59-64-93 PsazaHb (4912)46-61-64
BapHayn (3852)73-04-60 KanuHuHrpan (4012)72-03-81 HabepexHble YenHbl (8552)20-53-41 Camapa (846)206-03-16
Benropop (4722)40-23-64 Kanyra (4842)92-23-67 HwxHuin Hoeropop, (831)429-08-12 CaHkT-MeTepbypr (812)309-46-40
BpsiHck (4832)59-03-52 KemepoBo (3842)65-04-62 HoBoky3HeLk (3843)20-46-81 CaparoB (845)249-38-78
BnaamsocTok (423)249-28-31 Kupos (8332)68-02-04 Hosocubupck (383)227-86-73 CesacTononb (8692)22-31-93
Bonrorpap (844)278-03-48 KpacHopap (861)203-40-90 Owmck (3812)21-46-40 Cumdpeponons (3652)67-13-56
Bonoraa (8172)26-41-59 KpacHosipck (391)204-63-61 Open (4862)44-53-42 CmoneHck (4812)29-41-54
BopoHex (473)204-51-73 Kypck (4712)77-13-04 OpeHbypr (3532)37-68-04 Coun (862)225-72-31
EkaTtepuHbypr (343)384-55-89  Jluneuk (4742)52-20-81 MeH3a (8412)22-31-16 CraBpononb (8652)20-65-13

EavHbin agpec: rbt@nt-rt.ru | http://rta.nt-rt.ru

CypryT (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbsiHoBCK (8422)24-23-59
Yda (347)229-48-12
XabapoBck (4212)92-98-04
YenabuHck (351)202-03-61
Yepenosel, (8202)49-02-64
Apocnaenb (4852)69-52-93

Motion Control Systems

SG SERIES PLANETARY GEARBOXES




B CONTENTS

i

<%
Q

(0]

STEPPER GEARBOXES

INTRODUCTION

SERVO GEARBOXES

» SG-P11-050-003-12-HH-712X

v VY

v Vv VY Y

SG-P11-050-003-12-HH-782X
SG-P11-070-003-12-SM-286X

SG-P11-050-005-12-HH-712X
SG-P11-050-005-12-HH-782X
SG-P11-050-005-12-SM-2861
SG-P11-070-005-12-SM-286X

SG-P11-050-009-12-HH-712X

SG-P11-070-010-12-HH-782X

» SG-P11-070-010-12-SM-2861

SG-P11-090-010-12-SM-286X

[EEN
N

= = [N =
W N [EEN o ~ ol ~

(BN
(6]

INTRODUCTION

A\ 4

v Y V¥V Vv VY

v

SG-P11-070-005-12-R2-0X00
SG-P11-090-005-12-R2-0750
SG-P11-090-005-12-R2-1000

SG-P11-070-010-12-R2-0X00
SG-P11-090-010-12-R2-0400
SG-P11-090-010-12-R2-0750
SG-P11-120-010-12-R2-0750
SG-P11-120-010-12-R2-1000

SG-P11-090-025-15-R2-0X00

» SG-P11-120-025-15-R2-0750

» SG-P11-120-025-15-R2-1000

[EEN
(o]

N =

N

N N N
)] I w N

N
(o]

N N N
© oo ~



STEPPER GEARBOXES SG SERIES

TABLE OF CONTENTS

SG SERIES GEARBOX MAXIMUM BACKLASH EMERGENCY MOTOR TECHNICAL DATA
BODY VELOCITY (arcmin) TORQUE COUPLING DATI TECNICI
STEPPER GEARBOXES (mm.) (min™) (Nm) (Flange Size) (page/pagina)
1=3

@ $G-P11-050-003-12-HH-712X 60 4000 12 28 NEMA 23 5
@ $G-P11-050-003-12-HH-782X 60 4000 12 28 60 mm. 6
SG-P11-070-003-12-SM-286X 85 4000 12 60 NEMA 34 7
% i=5
B @ SG-P11-050-005-12-HH-712X 60 5000 12 30 NEMA 23 8
<
L
(D o N
o @ $G-P11-050-005-12-HH-782X 60 5000 12 30 60 mm. 9
g
Ll
@ SG-P11-050-005-12-SM-2861 85 5000 12 30 NEMA 34 10
@ SG-P11-070-005-12-SM-286X 85 5000 12 70 NEMA 34 11

@ SG-P11-050-009-12-HH-712X 60 6000 12 28 NEMA 23 12
i=10

@ SG-P11-070-010-12-HH-782X 60 6000 12 60 60 mm. 13
@ SG-P11-070-010-12-SM-2861 85 6000 12 60 NEMA 34 14
Q SG-P11-090-010-12-SM-286X 85 6000 12 150 NEMA 34 15

MADE o , PLa)G
ITALY ¢ =From3to25] ((P=12 % é%! IN S%CK

=z




B -P11-050-003-12-HH-712X-00000

PLANETARY GEARBOXES

A |

SG 050

=003

Q=12'

[ _Dimensions (Units:mm)

| SHAFT SIDE VIEW | | FLANGE SIDE VIEW |
18 53 24.5
3
4 h9 (%2]
] L
8 =
S o
B [ma)
: :
Q
o i
5] . (©)
S = o
LLl
/ o
(a1
; — Ll
o 44+0.05 5
25 max
—1
. . . Maximum Maximum
MODEL torque output torque | output torque speed input speed o oﬁt[;)ztsghaft o oﬁt[;)ztsghaft of inertia
[Nm] [Nm] [Nm] farcmin] | [min] [min“] |{[Nm/arcmin]] ~ [N] N] [%] [kgm?]
5G-P11-050-003-12-HH-712X-00000, 10 16 28 2 3300 4000 0.9 500 600 97 0.07x10°

. Su%ested motors

103-H7123 SERIES 103-H7126 SERIES

| - =
._{._..u- el — {{“
\. _ .L i

MOUNTING OPERATION MODE: Ml Tightening torque M=5 Nm W Locking bolt M4 B R.T.A. Quality Control




§€-P11-050-003-12-HH-782X-00000

PLANETARY GEARBOXES -

A

SG 050

=003

P=12'

MADE
IN
ITALY

[ _Dimensions (Units:mm)

[_SHAFT SIDE VIEW | [__FLANGE SIDE VIEW_|
23 53 24.5
3
w 4h9 ., 8
LLl R e o
x 0
O 3
(2] o —
o )
<C S|
L o
© S
e =
L
o
o
[T ‘ [
= o 4440.05 10
30 max
=
. ) . Maximum Maximum
it | st | sy | dtan |t | ooy | PO | e | ewlne | Gar | S
MODEL torque output torque | output torque - speed input speed sifness o :uptﬂx:nghaﬂ on :ﬂ;}lﬁnghaﬂ ereeney of inertia
[Nm] [Nm] [Nm] [arcmin] | [min’] [min"] [[Nm/arcmin]  [N] IN] [%] [Kom']
SG-P11-050-003-12-HH-782X-00000{ 10 16 28 12 3300 4000 0.9 500 600 97 0.07x10°

. Su%ested motors

g 103-H7823 SERIES ==

MOUNTING OPERATION MODE: M Tightening torque M=5 Nm W Locking bolt M4 B R.T.A. Quality Control




§€-P11-070-003-12-SM-286X-00000

PLANETARY GEARBOXES

A |

SG 070

1=003

P=12'

MADE
IN
ITALY

[l _Dimensions (Units:mm)

| SHAFT SIDE VIEW

| FLANGE SIDE VIEW |

3
5h9
o]
g
Oli
3
Q
s
4xM5 62:6.05
32 max
T
=
]
) ) ) Maximum Maximum
Rated Maximum Emergency Nominal Maximum " - - Gear
output acceleration step Backlash input momentary I?:#gg;l ra:|all fi?]rce a:allf(i);ce eﬁ(i;ceiZ;cy moment
MODEL torque output torque | output torque . speed input speed on oﬁtl;)ztghaft on ofg)ztghaﬁ of inertia
[Nm] [Nm] [Nm] | [arcmin] | [min‘] [min]  {[Nm/arcmin]|  [N] IN] [%] [Kgm’]
§6-P11-070-003-12-5M-286X-00000] 18 30 60 VA 3300 4000 3 1300 1400 97 0.14x10°

. Sugqested motors

SM 2862 SERIES

| [:“HS

SM 2863 SERIES

MOUNTING OPERATION MODE:

B Tightening torque M=5 Nm

B |ocking bolt M4

W R.T.A. Quality Control

W
Ll
=
©)
o]
o
<
L
O]
o
L
o
o
L
—
wn




Be-P11-050-005-12-HH-712X-00000

PLANETARY GEARBOXES -

SG 050

1=005

@=12'

MADE
IN
ITALY

[li_Dimensions (Units:mm)

[ SHAFT SIDE VIEW | [ FLANGE SIDE VIEW ]
18 53 24.5
3 3
(9p)
L m’** ™
x S
@] <
om w0l
4 o
o oS
O =4 L __
o S| LL
L 0
e g
o
LLI ‘ [
U) 4xM4 44+0.05 10
25 max
1
. . ) Maximum Maximum
Rated Maximum Emergency Nominal Maximum . . : Gear
output acceleration step Backlash input momentary Z(t){fsfl:gssl ra;hall f;rce a:allf(i);ce eﬁ(i;ceiz:]cy moment
MODEL torque output torque | output torque speed input speed onoft%l{tsghaft onoft%l)lltsghaﬂ of inertia
[Nm] [Nm] [Nm] [arcmin] | [min’] [min’] |[Nm/arcmin]| ~ [N] IN] [%] [Kgm’]
SG-P11-050-005-12-HH-712X-00000] 12 20 30 12 3500 5000 0.9 500 600 97 0.05x10°

[ _Suggested motors

103-H7123 SERIES

103-H7126 SERIES

by

MOUNTING OPERATION MODE:

M Tightening torque M=5 Nm

W Locking bolt M4

W R.T.A. Quality Control




€ -P11-050-005-12-HH-782X-00000

PLANETARY GEARBOXES

A |

SG 050

1=005

P=12'

[ _Dimensions (Units:mm)

[ SHAFT SIDE VIEW

[ FLANGE SIDE VIEW |

23 53 24.5
3
4 h9 25
3
o
o 14 2.5
o
Q
o
0 L - — -
Q L
‘ | I
4xM4 44+0.05 10
30 max
=
) ) ) Maximum Maximum
i | oo | s | baan | g | poneny | T | e | an | e | S
_ ) ) ) fficien
MODEL torque output torque | output torque . speed input speed sifness on :upt[;)ljltnsghaft on (?L?tppliltnghaft ey of inertia
[Nm] [Nm] [Nm] [arcmin] | [min] [min“] |{[Nm/arcmin]] ~ [N] IN] [%] [Kgm?]
SG-P11-050-005-12-HH-782X-00000{ 12 20 30 12 3500 5000 0.9 500 600 97 0.05x10°

. Su%ested motors

103-H7823 SERIES

MOUNTING OPERATION MODE:

M Tightening torque M=5 Nm

W | ocking bolt M4

M R.T.A. Quality Control

W
Ll
=
©)
o]
o
<
L
O]
o
L
o
o
L
—
wn




§€-P11-050-005-12-SM-2861-00000

PLANETARY GEARBOXES —

9

SG 050

1=005

Q=12'

MADE
IN
ITALY

[l _Dimensions (Units:mm)

[ SHAFT SIDE VIEW | [ FLANGE SIDE VIEW |

25 53

M5x12

9] 14-‘0.018

@73

%]
Ll
<
©)
[wa]
o
<T
L
o
o
L
o
o
L
—
(%]

4xM4

=
]
. . . Maximum Maximum

Rated Maximum Emergency Nominal Maximum ! X . G

output acceleration step Backlash input momentary E{fsflr?é]:sl raglall f%rce a:lallf(i)r:ce eﬁ?;Z; o mo;a;rm
MODEL torque output torque | output torque speed input speed on oﬁt}:)zt sghaft on Ofg)xt sghaft of inertia

Nm Nm [Nm] | [arcmin] | [min® min’] | [Nm/arcmin]| [N N b Kgm’

[ g

SG-P11-050-005-12-5M-2861-00000{ 12 20 30 12 3500 5000 0.9 500 600 97 0.07x10°

. Su%ested motors

SM 2861 SERIES

.i [:N s

MOUNTING OPERATION MODE:

B Tightening torque M=5 Nm

B |ocking bolt M4

W R.T.A. Quality Control




§e¢-P11-070-005-12-SM-286X-00000

PLANETARY GEARBOXES

A |

SG 070

I=005

Q=12'

MADE
IN
ITALY

[l _Dimensions (Units:mm)

[ SHAFT SIDE VIEW | | FLANGE SIDE VIEW_|
25 62 36
5h9 8 5; M5x12
2 | = — )
27 20 { 4.0 / = R
Q
s .
‘ 1
4XM5 62+0.05 12
32 max
I
==
Rated Maximum Emergency Nominal Maximum Torsional rg:é'{?g:ge a’i?;'::)urzne Gear Gear
output acceleration step Backlash input momentary ) ) - - moment
MODEL torque output torque | output torque . speed input speed sifness o ;ﬁtpplansghaﬁ o :&pmnsghaﬁ effiiency of inertia
[Nm] [Nm] [Nm] [arcmin] | [min’] [min’] |[Nm/arcmin]|  [N] IN] [%] [Kgm’]
§6-P11-070-005-12-5M-286X-00000] 25 3 70 12 3500 5000 3 1300 1400 97 | 0.09x10°

. Su%ested motors

SM 2862 SERIES

J_ n“l us

SM 2863 SERIES

MOUNTING OPERATION MODE:

B Tightening torque M=5 Nm

W | ocking bolt M4

B R.T.A. Quality Control

W
Ll
=
©)
o]
o
<
L
O]
o
L
o
o
L
—
wn




€ -P11-050-009-12-HH-712X-00000

PLANETARY GEARBOXES

A |

SG 050

1=009

p=12'

MADE
IN
ITALY

[l _Dimensions (Units:mm)

[ SHAFT SIDE VIEW | | FLANGE SIDE VIEW |
18 53 24.5
3 3
(9p)
e 4 h9 - M4x10
x s
@] S
m [ Vo 3 I
4 <
3 48
o G - B - %
o Q =
o & : 2
m : %
LLi ‘ (I =
b) 4xM4 44+0.05 10
25 max
1
) ) ) Maximum Maximum
won | wosion | dip | g | ipn | onenay | FOW | mooe | wdtoe | g | S
MODEL torque output torque | output torque speed input speed sifness on (?Sg)lzltnghaft on gﬁgjzltnsghaft ety of inertia
[Nm] [Nm] [Nm] [arcmin] | [min] [min“]  |{[Nm/arcmin]] ~ [N] IN] [%] [Kgm?]
SG-P11-050-009-12-HH-712X-00000[ 10 16 28 12 4000 6000 0.9 500 600 97 0.04x10°

. Sulqested motors

103-H7123 SERIES

103-H7126 SERIES

¥

MOUNTING OPERATION MODE:

M Tightening torque M=5 Nm

B | ocking bolt M4

B R.T.A. Quality Control




§€-P11-070-010-12-HH-782X-00000

PLANETARY GEARBOXES

N

SG 070

=010

P=12'

[ _Dimensions (Units:mm)

| SHAFT SIDE VIEW

@ 8-0.015

@ 50

4xM5 62:6.05

[ FLANGE SIDE VIEW |

30 max
=
Rated Maximum Emergency Nominal Maximum Torsional rydai);mrnge ahi?;(lmflur?e Gear Gear
output acceleration step Backlash input momentary ) ) ; i moment
MODEL torque output torque | output torque . speed input speed sifness on :upt[;)ljltnsghaft on gﬁgiltnghaft eficiency of inertia
[Nm] [Nm] [Nm] [arcmin] | [min‘] [min"] [[Nm/arcmin]  [N] IN] [%] [Kgm?]
$6-P11-070-010-12-HH-782%-00000| 18 0 60 12 4000 6000 3 1300 1400 97 | 0.06x10"

. Su%ested motors

103-H7823 SERIES

MOUNTING OPERATION MODE:

M Tightening torque M=5 Nm

W | ocking bolt M4

M R.T.A. Quality Control

W
Ll
=
©)
o]
o
<
L
O]
o
L
o
o
L
—
wn




Be¢-P11-070-010-12-SM-2861-00000

PLANETARY GEARBOXES

A |

SG 070

I=010

Q=12'

MADE
IN
ITALY

[ _Dimensions (Units:mm)

[ SHAFT SIDE VIEW | [ FLANGE SIDE VIEW |
25 62 36
) 5h9 3
%
[ee]
Q 8
2] sl
o 3
<C Q
o) R
o Q
i
(521
& A f 2
L ‘ (I =
5 x5 62+0.05 12
32 max
T
=
]
. . . Maximum Maximum
Rated Maximum Emergency Nominal Maximum . ’ ; Gear
output acceleration step Backlash input momentary I?Irfs;gg:lsl ra;!lall fi(I:rce a:|allf(i>r:ce eh‘iGceiz;cy moment
MODEL torque output torque | output torque speed input speed on oupt%Lyltghaft on oupt%Lyltghaft of inertia
[Nm] [Nm] [Nm] [arcmin] | [min] [min®] |{[Nm/arcmin]]  [N] IN] %] [Kgm?]
SG-P11-070-010-12-5M-2861-00000f 18 30 60 12 4000 6000 3 1300 1400 97 0.04x10°

. Sugqested motors

SM 2861 SERIES

[:N s

MOUNTING OPERATION MODE:

M Tightening torque M=5 Nm

B |ocking bolt M4

B R.T.A. Quality Control




§€-P11-090-010-12-SM-286X-00000

PLANETARY GEARBOXES

N

SG 090

=010

P=12'

[ _Dimensions (Units:mm)

SHAFT SIDE VIEW [ FLANGE SIDE VIEW |
6 h9
§ _—tH—_ &) g
LR 3
,/ I\ S
el @@ )et | 8§
N / / o)
N T S
g™
4xM6 8016.05
40 max
T
=
1
Rated Maximum Emergency Nominal Maximum Torsional rydai);mrnge ahi?;(lmflur?e Gear Gear
output acceleration step Backlash input momentary ) ) ; i moment
MODEL torque output torque | output torque speed input speed sifness on :upt[;)ljltnsghaft on gﬁgiltnghaft eficency of inertia
[Nm] [Nm] [Nm] [arcmin] | [min’] [min’] |[Nm/arcmin]|  [N] IN] [%] [Kgm’]
5G-P11-090-010-12-5M-286X-00000f 37 70 150 12 4000 6000 9 2200 1900 97 0.35%10°

. Su%ested motors

. SM 2862 SERIES SM 2863 SERIES
i ° L3
M ¥ x B
._._{-.--'-" "'i_ | S s 2t
N *‘. e E . ‘
P us
MOUNTING OPERATION MODE: M Tightening torque M=11 Nm B Locking bolt M6 B R.T.A. Quality Control

W
Ll
=
©)
o]
o
<
L
O]
o
L
o
o
L
—
wn




(9]
L
x
O
m
o
<
LLl
O
o
>
o
L
(9]

SERVO GEARBOXES SG SERIES
TABLE OF CONTENTS

SG SERIES GEARBOX MAXIMUM BACKLASH EMERGENCY MOTOR TECHNICAL DATA
BODY VELOCITY (arcmin) TORQUE COUPLING DATI TECNICI
STEPPER GEARBOXES (mm.) (min™) (Nm) (Flange Size) (page/pagina)

o1

@ SG-P11-070-005-12-R2-0X00 60 5000 12 70 60 mm. 19
@ SG-P11-090-005-12-R2-0750 80 4500 12 160 80 mm. 20
@ SG-P11-090-005-12-R2-1000 90 4500 12 160 100 mm. 21
=10

& SG-P11-070-010-12-R2-0X00 60 6000 12 60 60 mm. 22
@ SG-P11-090-010-12-R2-0400 80 6000 12 150 60 mm. 23
@ SG-P11-090-010-12-R2-0750 80 6000 12 150 80 mm. 24
@ SG-P11-120-010-12-R2-0750 80 6000 12 300 80 mm. 25
@ SG-P11-120-010-12-R2-1000 100 5000 12 300 100 mm. 26
1=25

@ SG-P11-090-025-15-R2-0X00 80 4500 12 160 60 mm. 27
5 SG-P11-120-025-15-R2-0750 100 4500 12 360 80 mm. 28
i

‘5 SG-P11-120-025-15-R2-1000 100 4500 12 360 100 mm. 29

PLYG V]
GE%! IN STOCK

I
—
N

£=From3t025 ()




§€-P11-070-005-12-R2-0X00-00000

PLANETARY GEARBOXES

A |

SG 070

I=005

P=12'

MADE
IN
ITALY

[l _Dimensions (Units:mm)

| SHAFT SIDE VIEW | |__FLANGE SIDE VIEW |
23 62 36
5 h9 3 g M4x10
g \
Oli
3
Q
3 [ __ _
Q Lz
‘ T
4xM5 62+0.05 12
30 max
. : . Maximum Maximum
i | st | atp | vt | bpn | moneny | U | e | omlice | Ger | R
MODEL torque output torque | output torque . speed input speed sifness on (?L?t?]lz;nghaft onoaﬁt[;)lz{nghaﬁ eeeney of inertia
[Nm] [Nm] [Nm] [arcmin] | [min’] [min®] |[Nm/arcmin]|  [N] IN] [%] [Kgm']
$6-P11-070-005-12-R2-0X00-00000 25 35 70 12 3500 5000 3 1300 1400 97 0.09x10* g
O
[a)
o
_Suggested motors é
. R2AA06020 SERIES R2AA06040 SERIES g
M K - %)
I- - ."'-- _--: . P
S\ ( | S
2) (?)
| " L
MOUNTING OPERATION MODE: B Tightening torque M=5 Nm W | ocking bolt M4 W R.T.A. Quality Control




§€-P11-090-005-12-R2-0750-00000

PLANETARY GEARBOXES

N

SG 090

1=005

P=12'

MADE
IN
ITALY

[l _Dimensions (Units:mm)

[ SHAFT SIDE VIEW | [ FLANGE SIDE VIEW |
34 72.3 46
4
6 h9 3
g
Oli_
3
Q
= L __ R - __ __
Q L
‘ I
4XM6, 80+0.05 15
40 max
) ) ) Maximum Maximum
e | wosion | s | vt | mpn | vy | T | o | wlhee | G | S
MODEL torque output torque | output torque . speed input speed sifness on gﬁtﬂxltnghaft on :L?t%lzlnghaﬁ ereeeney of inertia
[Nm] [Nm] [Nm] | [arcmin] | [min®] [min®]  |[Nm/arcmin]]  [N] IN] [%] [Kgm’]
wn
';'<J SG-P11-090-005-12-R2-0750-00000] 43 80 160 12 3200 4500 9 2200 1900 97 0.47x10°
O
[a1]
o
< J_Suggested motors
Q)
(@) : R2AA08075 SERIES
= )
o d
z LA ;
- =
A/
= . 4

MOUNTING OPERATION MODE: B Tightening torque M=11 Nm W | ocking bolt M6 W R.T.A. Quality Control




§€-P11-090-005-12-R2-1000-00000

PLANETARY GEARBOXES

A |

SG 090

I=005

P=12'

MADE
IN
ITALY

[l _Dimensions (Units:mm)

[ SHAFT SIDE VIEW | [ FLANGE SIDE VIEW |
34 72.3 46
4
6 h9
g
0'7
3
S}
8 | __ _
S} Lz
‘ T
4xM6 80+0.05 15
40 max
) : . Maximum Maximum
i | st | oy | vt | bpn | vy | W | o | whee | Ger | S
MODEL torque output torque | output torque . speed input speed sifness on ;Sg)l E:Itnsghaft on (?Etﬂxltnsghaﬂ eeeney of inertia
[Nm] [Nm] [Nm] | [arcmin] | [min] [min®]  |[Nm/arcmin]]  [N] IN] [%] [Kgm’]
S6-P11-090-005-12-R2-1000-00000 43 80 160 12 3200 4500 9 2200 1900 97 0.47x10° g
O
om
o
_Suggested motors <
O
R2AAB8100 SERIES @)
I >
0
M @)
g | ]
. , y
-l
MOUNTING OPERATION MODE: B Tightening torque M=11 Nm B | ocking bolt M6 W R.T.A. Quality Control




§€-P11-070-010-12-R2-0X00-00000

PLANETARY GEARBOXES

N

SG 070

I=010

P=12'

MADE
IN
ITALY

[l _Dimensions (Units:mm)

[ SHAFT SIDE VIEW | [ FLANGE SIDE VIEW |

23 62 36

M4x10

(2]
L
x
O
m
o
<
LU
O
@)
>
o
L
(9]

1 =]
3
n S
! o
, s |
Jo} :
N | L/ / - ™
a2 L 2
4xMS 62+0.05 12
30 max
Rated Maximum Emergency Nominal Maximum Torsional rgj}:ﬁgze ;i?axlirfﬂ;zﬂe Gear Gear
output acceleration step Backlash input momentary ) ) - ;i moment
MODEL torque output torque | output torque speed input speed sifness o oal?t[:mnsghaft o :Etmnsghaft eficiency of inertia
[Nm] [Nm] [Nm] [arcmin] | [min’] [min’] |[Nm/arcmin]|  [N] V] [%] [Kgm?]
SG-P11-070-010-12-R2-0X00-00000| 18 30 60 12 4000 6000 3 1300 1400 97 0.06x10°

. Su%qested motors

R2AA06020 SERIES

R2AA06040 SERIES

MOUNTING OPERATION MODE:

B Tightening torque M=5 Nm

B |ocking bolt M4

W R.T.A. Quality Control




§€-P11-090-010-12-R2-0400-00000

PLANETARY GEARBOXES

A |

SG 090

=010

P=12'

MADE
IN
ITALY

[l _Dimensions (Units:mm)

[ SHAFT SIDE VIEW | [ FLANGE SIDE VIEW |
4
6 h9
g
0'7
3
S}
3
Q
4xM6 80:6.05
40 max
) : ) Maximum Maximum
i | st | s | vt | bpn | nonenay | T | o | whee | G | S
MODEL torque output torque | output torque speed input speed sifness on gﬁg)lzltnghaft on gftﬂxltnsghaﬂ ey of inertia
[Nm] [Nm] [Nm] | [arcmin] | [min’] [min]  |[Nm/arcmin]|  [N] IN] [%] [Kgm’]
5G-P11-090-010-12-R2-0400-00000{ 37 70 150 12 4000 6000 9 2200 1900 97 0.35x10° g
O
[a)
o
_Suggested motors <
O
R2AA06040 SERIES @)
y =
0
M & »
P k
7 (2)
LY
MOUNTING OPERATION MODE: B Tightening torque M=11 Nm B | ocking bolt M6 W R.T.A. Quality Control




§€-P11-090-010-12-R2-0750-00000

PLANETARY GEARBOXES

N

SG 090

I=010

P=12'

MADE
IN
ITALY

[l _Dimensions (Units:mm)

[ SHAFT SIDE VIEW | [ FLANGE SIDE VIEW |
34 72.3 46
4
6 h9 3
g
Oli_
s
= L __ R - __ __
Q L
‘ I
4XM6, 80+0.05 15
40 max
) ) . Maximum Maximum
e | wosion | s | v | bpn | onenwy | T | o | wlhee | G | S
MODEL torque output torque | output torque . speed input speed sifness on gﬁtﬂxltnghaft on :L?t%lzlnghaﬁ ereeeney of inertia
[Nm] [Nm] [Nm] | [arcmin] | [min’] [min]  |[Nm/arcmin]|  [N] IN] [%] [Kgm’]
wn
';'<J 5G-P11-090-010-12-R2-0750-00000f 37 70 150 12 4000 6000 9 2200 1900 97 0.35x10°
O
[a1]
o
< J_Suggested motors
Q)
(@) : R2AA08075 SERIES
= )
o d
z LA ;
- =
A/
= . 4

MOUNTING OPERATION MODE: B Tightening torque M=11 Nm W | ocking bolt M6 W R.T.A. Quality Control




§e-P11-120-010-12-R2-0750-00000

[ _Dimensions (Units:mm)

|_SHAFT SIDE VIEW | | FLANGE SIDE VIEW |
28 101.1 70
5
10h
& _—i~_9) =/
A g
| \\ [
! ) o
@R s g
S /.
L5~ 9 ] _
ﬁ\\—/ & ) (I
4xM8 108+0.05
40 max
) ) . Maximum Maximum
won | aotertin | s | g | s | onenay | FOW | wlice | ewne | Gar | B
MODEL torque output torque | output torque . speed input speed sifness on (?L?S)lxltnghaﬂ on (?Etﬂx‘tnsghaft efiiney of inertia
[Nm] [Nm] [Nm] | [arcmin] | [min] [min]  |[Nm/arcmin]|  [N] IN] %] [Kgm’]
SG-P11-120-010-12-R2-0750-00000| 95 160 300 12 3500 5000 25 3500 3000 97 0.49x10°

. Su%ested motors

R2AA08075 SERIES

MOUNTING OPERATION MODE:

W Tightening torque M=11 Nm

W | ocking bolt M6

B R.T.A. Quality Control

%]
Ll
<
©)
[ma]
o
<T
L
o
@)
=
o
Ll
)




§€-P11-120-010-12-R2-1000-00000

[l _Dimensions (Units:mm)

[ SHAFT SIDE VIEW | | FLANGE SIDE VIEW |
28 101.1 70
5
10 h9
® ) =
! | o
(@] s g
N
o N B L
4xM8 108+0.05
40 max e
’lE
) . ) Maximum Maximum
Rated Maximum Emergency Nominal Maximum ’ ’ ) G
output acceleration step Backlash input momentary Iilrfsflg:?; ra:mll f?nrce a:|allf?nrce eff(i;ceiz:wcy morenaernt
MODEL torque output torque | output torque speed input speed on oupt%t sghaft on oﬁt%ztsghaft of inertia
[Nm] [Nm] [Nm] | [arcmin] | [min] [min"]  |[Nm/arcmin]  [N] IN] [%] [Kgm’]
wn
% 5G-P11-120-010-12-R2-1000-00000, 95 160 300 12 3500 5000 25 3500 3000 97 0.49x10°
@)
o
o
< J_Suggested motors
O
(@) R2AAB8100 SERIES
=
o
L M %
o iy
!

-

MOUNTING OPERATION MODE: W Tightening torque M=11 Nm W | ocking bolt M6 W R.T.A. Quality Control




€ -P11-090-025-15-R2-0X00-00000

PLANETARY GEARBOXES

A |

SG 090

1=025

P=15'

MADE
IN
ITALY

[l _Dimensions (Units:mm)

SHAFT SIDE VIEW FLANGE SIDE VIEW
34 98.8 46
4
6 h9
g
Oli
3
Q
3 L __
Q L
3 |
‘ | I
4xM6 80+0.05 15
40 max
) ) ) Maximum Maximum
i | wosion | omp | vt | bpn | vy | W | wlice | ewne | Ger | E
MODEL torque output torque | output torque . speed input speed sifness o oal?t[;lﬁnsghaft o :&ﬂﬁnﬁhaﬁ eficiency of inertia
[Nm] [Nm] [Nm] | [arcmin] | [min] [min]  |[Nm/arcmin]| ~ [N] IN] %] [Kgm’]
SG-P11-090-025-15-R2-0X00-00000] 43 80 160 15 3200 4500 8.5 2200 1900 94 0.40x10° g
O
(2]
o
_Suggested motors é
. R2AA06020 SERIES R2AA06040 SERIES g
A = %
M f _ - ; : »
._-_{-.--‘- 1..:\-\.-'- __.-':' (-——q""‘h L] h -
?) (#)
b e L
L ]

MOUNTING OPERATION MODE: B Tightening torque M=11 Nm B | ocking bolt M6 W R.T.A. Quality Control




(2]
L
x
O
m
o
<
LU
O
@)
>
o
L
(9]

§€-P11-120-025-15-R2-0750-00000

[l _Dimensions (Units:mm)

[ SHAFT SIDE VIEW |

| FLANGE SIDE VIEW |

28 133.6 70
10 hg. 2 66 M5x12
g
Oli
s
s Li
‘ | I
4xM8 108+0.05
40 max e
’IE
) ) ) Maximum Maximum
Rated Maximum Emergency Nominal Maximum " ! . Gear
output acceleration step Backlash input momentary Ii{#g:;l ra:|all f?nrce a§|allfti);ce eff(i;ceiz:wcy moment
MODEL torque output torque | output torque . speed input speed on Oﬂ:]zt sghaft o oﬁt%ztsghaft of inertia
[Nm] [Nm] [Nm] | [aremin] | [min’] [min"]  [[Nm/aremin]|  [N] IN] [%] [Kom']
§G-P11-120-025-15-R2-0750-00000] 110 190 360 15 3000 4500 22.5 3500 3000 94 0.71x10°

. Sugqested motors

R2AA08075 SERIES

MOUNTING OPERATION MODE:

W Tightening torque M=11 Nm

W | ocking bolt M6

W R.T.A. Quality Control




§€-P11-120-025-15-R2-1000-00000

[l _Dimensions (Units:mm)

| SHAFT SIDE VIEW | | FLANGE SIDE VIEW |
28 133.6 70
10 h9 2 M6x16
g
Oli
s
8 L __
Q L
‘ T
4xm8 108+0.05 20
40 max
) . ) Maximum Maximum
i | wosion | dtp | vt | mpn | vy | O | o | ewe | Ger | S
MODEL torque output torque | output torque speed input speed sifness on gﬁtﬂﬁltnghaft o oal?t[;lﬁnsghaft ey of inertia
[Nm] [Nm] [Nm] | [arcmin] | [min’] [min]  |[Nm/arcmin]|  [N] IN] %] [Kgm’]
9G-P11-120-025-15-R2-1000-00000f 110 190 360 15 3000 4500 225 3500 3000 94 0.71x10* ﬁ
@)
m
o
. Sugqested motors é
R2AAB8100 SERIES @)
>
i
M & n
gar
1

1 i ||
At & |
- .

o

MOUNTING OPERATION MODE: W Tightening torque M=11 Nm B | ocking bolt M6 W R.T.A. Quality Control




ApxaHrenbck (8182)63-90-72
AcTtaHa (7172)727-132
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropop, (4722)40-23-64
BpsiHck (4832)59-03-52
BnagmBocTok (423)249-28-31
Bonrorpag (844)278-03-48
Bonoraa (8172)26-41-59
BopoHex (473)204-51-73
EkatepuHbypr (343)384-55-89

Mo Bonpocam npoaax v noaaepxku obpallanTecs:

MBaHoBo (4932)77-34-06
Wxesck (3412)26-03-58
KasaHb (843)206-01-48
KanuHuhrpag (4012)72-03-81
Kanyra (4842)92-23-67
Kemepogo (3842)65-04-62
Kupos (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04

Ivineuk (4742)52-20-81

MarnuToropck (3519)55-03-13
Mocksa (495)268-04-70
Mypmatck (8152)59-64-93

HabepexHble YenHbl (8552)20-53-41
HwxHuin Hoeropop, (831)429-08-12

HoBoky3Heuk (3843)20-46-81
HoBocnbupck (383)227-86-73
Owmck (3812)21-46-40

Open (4862)44-53-42
OpeHbypr (3532)37-68-04
MeHsa (8412)22-31-16

Mepmb (342)205-81-47

PoctoB-Ha-[oHy (863)308-18-15

PazaHb (4912)46-61-64
Camapa (846)206-03-16

CaHkTt-letepbypr (812)309-46-40

CapatoB (845)249-38-78
Ceactononb (8692)22-31-93

Cumdeponons (3652)67-13-56

CmoneHck (4812)29-41-54
Coun (862)225-72-31
Craspononsb (8652)20-65-13

EavHbin agpec: rbt@nt-rt.ru | http://rta.nt-rt.ru

CypryT (3462)77-98-35
Tepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbsiHoBck (8422)24-23-59
Yda (347)229-48-12
Xabaposck (4212)92-98-04
YensbuHck (351)202-03-61
Yepenosel, (8202)49-02-64
Apocnaenb (4852)69-52-93





